1B, 2B & 3B Solar Perimeter Alarm Beams
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The Dual Detection Technology works by having a pair of
Detectors (set 60 mm apart from each other) on each
Beam, both Detectors have to be breached simultaneous-
ly to create an activation, allowing small animals, insects,
leaves & debris to safely pass by.

1B, 2B or 3B (which ones)

There are a pair of detectors on each size of Beam, so

these 1B-100 have one pair of detectors, a 2B-100 would
have two pairs and the 3B-100 would have three pairs,
each pair of detectors work independently of each other
resulting in the 3B-100 Beams having three chances to

detect an Intruder.

The choice is between choosing the size of the Beams and
the gty of dual detection Beams (1,2 or 3).




